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Collegé English Test -1‘

Paper One

Part [ Listening Comprehension (20 minutes)
Section A
Directions:In this section, you will hear 10 short conversations.
At the end of each conversation, a quéstion will be asked about
what was said. Both the conversation and the question will be
spoken only once. After each question there will be a pause.
During the pause, you must read the four choices marked A),
B), C), and D), and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single
line through the centre.
Ezxample:You will hear:
You will read:
A) At the office.
B). In the waiting room.
C) At the airport.
D) In a restaurant.
Sample Answer €A (B)(C) (D)
From the conversation we know that the two were talking
about some work they have to finish in the evening. This is most
likly to have taken place at the office. Therefore, “At the office”
is the best answer. You should choose (A) on'the Answer Sheet

e J e
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and mark it with a single line through the centre.
1. A) at a tailor’s B) at a book store
C) at a store D) at a grocer’s
2. A) They watched the race.
B) Most of them did not run.
C) Three of them joined the sports meeting.
‘D) They participated in the last 3 races.
3. A) ten o’clock B) ten-thirty
C) eleven o’clock D) eleven-thirty
4. A) It’s sure to be easy.
B) 1It’ll cost less than last year’s.
C) Tt might difficult.
D) It makes no difference.
5. A) grocer B) taxicab driver
C) carpenter D) shoemaker
6. A) The paper must be handed in on time.
B) The question was not very clear.
C) He may hand it late.
D) She didn’t think the man was ever late.
7. A) Because she is not afraid of the teacher.
B) Because she isn’t interested in the class.
C) Because she prefers reading outside.
D) Because she doesn’t want to interrupt the class.
8. A> $450 B) $400 C) §$350 D) $50
9. A) a captain and a sailor
B) an artist and a student
C) a customer and a shop-assistant
D) a manager and a tailor
2.
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10. A) He enjoys it.

B) He hates it.

C) He’s indifferent towards it.

D) He minds all the overtime.
Section B
Directions; In this section, you will hear 3 passages. After each
passage, you will hear some questions. Both the passage and the
questions will be spoken only once. After you hear a question,
you must choose the best answer from the four choices marked
A), B), C), and D). Then mark the corresponding letter on the
Answer Sheet with a single line through the centre.
11. A) the U.S., 43 B) England, 53

C> Shandong, 43 D) Canada, 53
12. A) Because she loves China.

B) Because she is believed that her personality is as bright

as the sun.

C) Because she can speak Chinese very well.

D) Because she is nice to Chinese.
13. A) Chinese history B) her love for China

C) her mother’s persuation D) hooligans’ attack
14. A) She has met language difficulties.

B> She could not get along with her coach.

C) She is poor in hearing.

D) She can not accept Chinese living style.
15. A) by river B) on the bank

C) on a bridge D) on the bank facing north
16. A) a big fish and two small one

B> three fish



17.

18.

19.

20.

o
D)
A)

B)

)

D)
A)
(&)
A
B)
<)
D)
A
B)
(&)
D>
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two big fish and a small one

only one small fish

He thought small one could be more delicious than the
big one. '

He was afraid to catch big fish.

He hadn’t got the big flat dish. -

He wanted to give a surprise to the man.

San Francisco B) Nimi

the Pacific Ocean D) along the U. S. coast
The earthquake was serious.

New earthquakes are not expected.

An island was destroyed by the earthquake.
Earthquakes of unknown intensity are expected.
They will be of high intensity.

They will occur along the coast.

They will occur there of unknown intensity.

They are predicted 100 miles away.

Part 1 Reading Comprehension (35 minutes)

_ Directions: There are 4 passages in this part. Each Passage is fol-

lowed by some questions or unfinished statements. For each of
them there are four choices marked A), B), C), and D), You

should decide on the best choice and mark the corresponding let-

. ter on the Answer Sheet with a single line through the centre.

" Passage 1

Questions 21 to 25 are based on the following passage: .

Public goods are those commodities from: whose enjoyment

nqbogy can be effectively excluded. Everybody.is free to enjoy
.
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the benefits of these commodities, and one person’s utilization
does not reduce the possibilities of anybody else’s enjoying the
same good.

Examples of public goods are not as rare as one might ex-
pect. A flood control dam is a public good. Once the dam is
built, all persons living in the area will benefit —irrespective of
their own contribution to the construction cost of the dam. The
same holds true for highway signs or aids to navigation. Once a
lighthouse is built, no ship of any nationality can be effectively
excluded from the utilization of the lighthouse for navigational
purposes. National defense is another example. Even a person

who voted against military exnenditires or did not pay any taxes
~ will benefit from the protection afforded.

It is no easy task to determine the social costs and social
benefits associated with public good. There is no practicable way
of charging drivers for lookj/ng at highway signs, sailors for
watching a lighthouse, and citizens for the security provided to
them through national defense. Because the market does not pro-
vide the necessary signals, economic analysis has to be substitut-
ed for the impersonél judgement of the marketplace.

21. What is the main idea of the passage?

A) A flood control dam >

B) National defense

C) Aids to navigation '

DY A specific group of commodities
22. According to the passage, which of the following would

NOT be an example of a public good?

A) A lighthouse B> A bridge



23.

24.

Test 1

C) A taxicab D) A dam

In the fifth sentence in the second paragraph, the word
“holds” could best be replaced by which of the following?
A)- grasps B) takes C) s D) carries

In the author’s opinion, finding out the social costs of a pub-
lic good is a "

A) citizen’s responsibility.

B> difficult procedure

C) matter of personal judgement

D) daily administrative duty

25. The organization of the first two paragraphs may be described

as

A) Persuasive language is used to argue against a popular
idea.

P, A general concept is defined and then examples are giv-
en.

C) Suggestions for the application of an economic concept
are offered. *

D) Several generalizations are presented from which various

conclusions are drawn.

Passage 2

Questions 26 to 30 are based on the following passage:

Owls can see with one hundred times less light than is nec-

essary for humans. Their large, forward — facing eyes are de-

signed to ec. through near —total darkness. lLike humans, owls

possess a high degree of binocnlar vision: each eye views nearly

the same scene from a sightly different angle, which is a help in

depth perception but a hindrance in field of view. To compen-
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sate, the owl has a long and flexible neck that allows.it to swivel

its head like a radar scanner. In legend, the owl can rotate its

head completely and will follow a man circling under its perch

unti} its neck snaps. This is not true, but the swift, flicking re-
e ————

\.v .
turn often does give the appearance of a complete rotation. Leg-

end also has it that owls are blind in daylight. Actually, owls see

exceptionally well under all light conditions.

26.

27.

28.

29.

30.

Humans need

A) one hundred eyes to see like owls

B) binoculars to see like owls

C) one hundred times less light than owls to see
D> one hundred times more light than owls to see
According to the passage, owls and humans

A) have limited depth perception

B) see from different angles

(2> both have binocular vision

D) have identical types of vision

What is the disadvantage of “binocular vision”?

A) It doesn’t work in darkness

R It reduces field-of-view.

"\ Tt hinders depth perception.

D) None of the above.

How does the owl make up for the limits of binocular vision?
AN It turns its head freely.

B) It needs less I'ght than humans.

C) It has forward-facing eyes.

D) 1t uses a system similar to radar.

In owls, each eye views _
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AN nearly the same scene B) the same scene

€ a different angle D) a different scene
Questiéns 31 to 35 are based on the following passage:

Passage 3

As far back as 700 B. C, man has talked about children be-
ing cared for by wolves. Romulus and Remus, the legendary
twin founders of Rome; were 5ur1.~n?tﬂed to have been cared for
k;y onlves. It is believed that when a she-wolf loses her litter,
she seeks a human child to take its place.

This seemingly preposterous idea did not become credible
until the late nineteenth century when a French doctor actually
found a naked ten-year-old boy wandering in the woods. He did
not walk erect, could not speak intelligibly, nor could he relate
to beople. He only growled and stared at them. Finally the doc-
tor won the boy’s confidence and began to work with him. After
many long years of devoted and patient instruction, the doctor
was able to get the boy to clothe and feed himself, recognize and
_y_tte\ra-number of words, as well as write letters and form
words. v
31. In the first paragraph, the word “litter” most probably

means .

A) offspring B) garbage C) hair D) food
32. We may infer frbm the passage that the naked ten-year-old
boy couldn’t speak intelligibly because

A) he had been dumb from birth

B) there was something wrong with his vocal chord

C) he had never received any medical treatment before he

was found by the Frznch doctor
-




33.

34.

35.
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) he had had no chance to imitate human speech since he
began to live in the woods

The doctor was able to work with the boy because .

A) the boy was dedicated and patient

R the boy trusted him

C) the boy was highly intelligent x

D) the boy liked to dress up ¥

In the second paragraph, the word “preposterous” most

probably means

A absurd B) scientific C) wonderful D) dedicated

Which of the following statements is not true?

A) The French doctor succeeded in domesticating the boy
somewhat.

B) The ten-year-old boy couldn’t walk erect when he was
found. by the French doctor.

C* Examples of wolves’ caring for human children can be
found only in the nineteenth century. -

D) She-wolves have been said to substitute human children

for their lost litters.

Questions 36 to 40 are based on the following passage :

Passage 4

Language is, and should be, a living thing, constantly en-

riched with new words and forms of expression. But there is a

vital distinction between good developments, which add to the

language, enabling us to say things we could not say before, and

bad developments, which subtract from the language by render-

ing it.less precise. A vivacie: s, colourful use of words is not to

be confused with mere slovenliness. The kind of slovenliness in

.9.
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which some professionals deliberately ipgl_ulge is perhaps akin to
the cult of the unfinished work, which has eroded most of the
arts in our time. And the true answer to it is the same —that art
is enhanced, not hindered, by discipline. You cannot carve satis-
factorily in butter.

The corruption of written English has been accompanied by
an even sharper decline in the standard of spoken English. We
speak very much less well than was common among educated
Englishmen a generation or two ago. .

The modern theatre has played a baneful part in dimming
our appreciation of language. Instead of the immensely articulate
dialogue of, for example, Shaw (Who was also very insistent on
good pronunciation), audiences are now subjected to streams of
barely literate trivia, often designed, only too well, to exhibit
‘lack of communication’, and larded with the obscenities and
grammatical errors of the intellectually impoverished. Emily
Post once advised her readers: ‘The theatre is the best possible
place to hear correctly-enunciated speech.’ Alas, no more. One
young actress was recently reported to be taking lessons in how
to speak badly, so that she should fit in better.

But the BBC is the worst traitor. After years of very suc-
cessfully helping to raise the general standard of spoken English,
it suddenly went into reverse. As the head of the Pronunciation
Unit coyly put it; ‘In the 1960’s the BBC opened the field to a
much wider range of speakers.’ To hear a BBC disc jockey talk-
ing to the latest ape-like pop idol is a truly shocking experience
of verbal squalor. And the prospect seems to be of even worse to
come. School teachers are actively encouraged to ignore little

¢ 10+
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Johnny’s incoherent grammar, atrocious spelling and haphazard
punctuation, because worrying about such things might inhibit
his creative genius.
36. What is it claimed has happened to spoken English?
A) Writing problems are not reflected in poor oral expres-
sion. 4
B) On the whole, people don’t worry if they make mis-
takes. '
CY Educated Englishmen now are less communicative than
. they were in the past.
D> Like written English, it has undergone a noticeable
change for the better.
37. The author says that the dialogue in Shaw’s plays is noted

for.

A) refined presentation of Shaw’ s ideas
B) remarkable outspokenness
C) being outstandingly well expressed
D) insistence on good pronunciation
38. In the 1960’s, the BBC began to
A) use broadcasters whose speech was notably more artic-
ulate ‘
B) employ announcers whose speech was less conformist
than hitherto
C) dismiss people who disregarded the earlier time-hon-
oured speech standard
D) be more intolerant of poor speakers in their pro-
grammes
39. A certain actress is said to have taken lessons because
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